Section 5.4

Smearing Data

What you need to do is the following:

Create the events for each month or each year as you like. Probably each

year, other wise you will have a lot of files to work with. 

Assuming your events are for each year, You will need a .rag file for each

year. This will be hourly even if you have only daily data.

Enter the daily rainfall each day at hours 1, 25, 49, .....8737

It will look like this:

   10 4790 4900  500  580 10.0 10.0

    9  744 1.00

 4799  556 CAMBRIDGE GA

 4832  547 ELORA RES ST

 4842  553 FERGUS SHAND

 4860  555 GRAND VALLEY

 4821  562 GUELPH ARBOR

 4871  520 MOUNT FOREST

 4805  548 PRESTOP WPCP

 4802  501 STRATFORD OW

 4811  550 W-W AIRPORT 

    0.30    0.30    0.30    0.30    0.30    0.30    0.30    0.30    0.30

   10.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   15.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00   -1.00

.

.

.etc.  You could have data for the other stations as well.

Then you run ragmet.exe or "distribute rainfall" and you will get a file

like this:

#basin/gr10k.shd               basin/gr10k.par               

#strfw/010101.str              resrl/010101.rel              

#                    01 01 01 0        starting time of simulation

#

        10      4790      4900       500       580      10.0      10.0

            121  0.30      1   1.0 =   # hrs,smc,month,conv

 hour=    0    0     moist

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 hour=    1    0     gauge

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 hour=   -2    0     gauge

 hour=   -3    0     gauge

 hour=   -4    0     gauge

 hour=   -5    0     gauge

 hour=   -6    0     gauge

 hour=   -7    0     gauge

 hour=   -8    0     gauge

 hour=   -9    0     gauge

 hour=  -10    0     gauge

 hour=  -11    0     gauge

 hour=  -12    0     gauge

 hour=  -13    0     gauge

 hour=  -14    0     gauge

 hour=  -15    0     gauge

 hour=  -16    0     gauge

 hour=  -17    0     gauge

 hour=  -18    0     gauge

 hour=  -19    0     gauge

 hour=  -20    0     gauge

 hour=  -21    0     gauge

 hour=  -22    0     gauge

 hour=  -23    0     gauge

 hour=  -24    0     gauge

 hour=   25    0     gauge

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 hour=  -26    0     gauge

 hour=  -27    0     gauge

 hour=  -28    0     gauge

 hour=  -29    0     gauge

.

.

.

etc.

 You see how there is missing data but you want to smear the data over 24

hours. All you have to do is replace .0.....gauge with 24.....gauge, where

the dots are blanks. It will then look this:

#basin/gr10k.shd               basin/gr10k.par               

#strfw/010101.str              resrl/010101.rel              

#                    01 01 01 0        starting time of simulation

#

        10      4790      4900       500       580      10.0      10.0

            121  0.30      1   1.0 =   # hrs,smc,month,conv

 hour=    0    0     moist

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30

 hour=    1   24     gauge

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0 10.0

 hour=   -2   24     gauge

 hour=   -3   24     gauge

 hour=   -4   24     gauge

 hour=   -5   24     gauge

 hour=   -6   24     gauge

 hour=   -7   24     gauge

 hour=   -8   24     gauge

 hour=   -9   24     gauge

 hour=  -10   24     gauge

 hour=  -11   24     gauge

 hour=  -12   24     gauge

 hour=  -13   24     gauge

 hour=  -14   24     gauge

 hour=  -15   24     gauge

 hour=  -16   24     gauge

 hour=  -17   24     gauge

 hour=  -18   24     gauge

 hour=  -19   24     gauge

 hour=  -20   24     gauge

 hour=  -21   24     gauge

 hour=  -22   24     gauge

 hour=  -23   24     gauge

 hour=  -24   24     gauge

 hour=   25   24     gauge

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0 15.0

 hour=  -26   24     gauge

 hour=  -27   24     gauge

 hour=  -28   24     gauge

 hour=  -29   24     gauge

 hour=  -30   24     gauge

 hour=  -31   24     gauge

 hour=  -32   24     gauge

 hour=  -33   24     gauge

.

.

.etc.

Next, you need to change each event file to turn on the smear flag. You

can do this in the event edit menu or just edit the event files from

date & snow flag:         00 01 01 00   ynynnnnnnn

 to look like this:

date & snow flag:         00 01 01 00   ynyynnnnnn

The fourth flag is set to y

Also distrubute the snow for the first year and now when you run the

program, it will apply the 24 hour precip values over the 24 hour period

each day.

fln = smear.doc

